In Out A) 0 A) 1 B) 0 B) 0

Washington County Corrections Facility
The Inmates Held In The Washington County Corrections Facility On This 25th Day Of September, 2023

Inmates by Facility: WCSO: 64 D&E: 0 Other: 0 TOTAL: 64

	inmates by Facinity: WCSO: 04 D&E: 0 Other: 0 101AL: 04											
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date					
1	Parras, Jorge L. WCSO	Warrant- Use of a Deadly Weapon to Commit Felony, Terroristic Threats, Stolen Firearm Prohibited Acts, N/C Victims	07-27-23 1919	WCSO 10-03-23	07-26-03	X X	\$200,00.00 10% \$20,000.00					
2	Jensen, Jeremy D. WCSO	Warrant- FTA for Hearing	09-11-23 1256	WCSO 09-26-23	12-19-80		\$50,000.00 10% \$5,000.00					
3	Ryan, Christopher J. WCSO	Violation of Post Release Supervision	09-19-23 1055	WCSO 09-26-23	12-02-75		\$50,000.00 10% \$5,000.00					
4	Boeka, Adam M. WCSO	Warrant- Theft by Unlawful Taking, N/C Victim	08-01-23 1401	WCSO	11-19-83	X X	\$45,000.00 10% \$4,500.00					
5	Lasher, Brooke L. WCSO	DUI 3 rd Aggrivated, Child Abuse x2	09-23-23 1439	WCSO	08-06-82	X X	\$30,000.00 10% \$3,000.00					
6	Garvin, Andrew J. BPD	DUI 3 rd , Refusal to Submit to Chem Test, Refusal to Submit to PBT	08-12-23 1743	WCSO 10-10-23	03-02-85		\$20,000.00 10% \$2,000.00					
7	Villines, Christopher L. WCSO / Jackson Co, MO Hold	Poss. Controlled Substance, Unauthorized Use of Financial Transaction Device, Jackson Co Warrant- FFJ	08-09-23 1548	WCSO 09-26-23	05-23-76		\$17,000.00 10% \$1,700.00 Jackson Co, MO – \$15,000.00 Cash					
8	Carter, Brooke D. BPD	Obstructing, Resisting Officer, Assault 3 rd Degree	09-21-23 1929	WCSO	05-13-99		\$12,500.00 10% \$1,250.00					
9	Thomas, Heath J. WCSO	Warrant- FTA	07-19-23 1813	WCSO 09-26-23	10-03-77		\$10,000.00 10% \$1,000.00					
10	Chenier, Corey J. WCSO / Sarpy Co & Douglas Co Hold	Poss. Controlled Substance, Sarpy Co Warrant -FTA x2, Douglas Co Warrant -FTA	08-26-23 0424	WCSO	04-20-91		\$10,000.00 10% \$1,000.00 Sarpy Co- \$1,500.00 10% \$150.00 Douglas Co- \$10,000.00 10% \$1,000.00					
11	Wait, Alexis M. BPD	Criminal Impersonation, Theft by Shoplifting	09-18-23 2037	WCSO	07-11-95		\$10,000.00 10% \$1,000.00					
12	Williams, Shaun A. WCSO	Warrant- Bond Exonerated	03-06-23 1944	WCSO 10-17-23	06-25-85		NO BOND					

Signed:	cc: (Captain's	Secretary	v , C	County	Court,	and]	District	Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
13	Logan, Elijah E. WCSO	Warrant- 1 st Degree Assault, Use of a Weapon to Commit Felony	05-15-23 1515	WCSO 10-10-23	06-29-00		NO BOND
14	Collins, William P. WCSO	Warrant- Burglary, 1 st Degree Assault, Theft by Unlawful Taking, 1 st Degree Murder, Stolen Firearm Prohibited Act, Use of a Deadly Weapon to Commit Felony x2	09-14-23 1723	WCSO 10-18-23	07-25-93		NO BOND
15	Tilson, Tilly J. WCSO	Warrant- FTA	09-24-23 0016	WCSO	06-25-82		NO BOND
16	Hernandez-Escobedo, Luis F. WCSO / Sentenced	DUI	09-19-23 0934	WCSO	06-19-95		Release Date 09-26-23 @ 0800
17	Campbell, Cameron P. WCSO / Sentenced	DUI	09-19-23 1002	WCSO	07-10-90		Release Date 09-26-23 @ 0800
18	Altstadt, Donald C. WCSO / Sentenced	Probation Violation	09-20-23 1512	WCSO	07-10-76		Release Date 09-27-23 @ 0800
19	Allen, Andrew J. WCSO / Sentenced	Warrant - Criminal Mischief x7, Disturbing the Peace	08-26-22 1723	WCSO	05-20-82		Release Date 03-18-24 @ 0800
20	Crims, Devon D. Burt Co	Burt Co- Violation of Protection Order	07-20-23 1517	WCSO 09-26-23	03-11-00		\$50,000.00 10% \$5,000.00
21	Ayala, Antonio Burt Co	Burt Co- Domestic Assault, N/C Victim	08-25-23 1119	WCSO 09-29-23	03-12-57	X X	\$50,000.00 10% \$5,000.00
22	Webster, Bryan L. Burt Co	Burt Co- DUI 2 nd , DUS, No License	07-30-23 2029	WCSO 10-17-23	04-23-98		\$20,000.00 10% \$2,000.00
23	Sparks-Freemont, Grant P. Burt Co	Burt Co- 3 rd Degree Arson, Criminal Mischief, Disturbing the Peace, Terroristic Threats	06-18-23 0215	WCSO 10-05-23	08-02-83		\$3,000.00 10% \$300.00
24	Silva-Alvarado, Daniel I. Burt Co / Assumption Parish, LA Hold	Unlawful Discharge of Firearm x2, Making False Report, CCW, DUI, Refusal to Submit Data Master, No Operators License, Disturbing the Peace, Assumption Parish Warrant-FTA	07-16-23 0055	WCSO 10-05-23	11-24-01		\$500,000.00 10% \$50,000.00 Assumption Parish- NO BOND

_____cc: Captain's Secretary, County Court, and District Court. Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
25	Deemer, Micheal P. Burt Co	Burt Co- Drug Court Sanction	09-18-23 1427	WCSO	03-22-79		Release Date 09-25-23 @ 1300
26	French, Rae A. Burt Co / Douglas Co Hold / Thurston Co Hold	Burt Co- Poss. Controlled Substance, Impersonation, Warrant- FTA, Douglas Co Warrant- FTA, Thurston Co Warrant- DUS	08-03-23 2154	WCSO	08-29-81		Release Date 11-11-23 @ 0800 Douglas Co- \$5,000.00 10% \$500.00 Thurston Co- NO BOND
27	Orozco-Ruiz, Leyli E. Dodge Co	Dodge Co- Identity Theft	06-16-23 0826	WCSO	03-24-75		\$500,000.00 10% \$50,000.00
28	Gallegos, Jadine M. Dodge Co	Dodge Co Warrant- FTA	08-25-23 0818	WCSO	07-10-93		\$150,000.00 10% \$15,000.00
29	Johnson, Elaine M. Dodge Co	Dodge Co- 2 nd Degree Domestic Assault, Use of Weapon to Commit a Felony	08-25-23 0830	WCSO	06-15-93		\$50,000.00 10% \$5,000.00
30	Johnson, Brooke M. Dodge Co	Dodge Co- Poss. Controlled Substance, Poss. Financial Forgery Devices- Written, Poss. Financial Transaction Device x3	09-08-23 0902	WCSO	06-27-94		\$50,000.00 10% \$5,000.00
31	Ruff, Gina C. Dodge Co	Dodge Co- DUI 3 rd , Refusal to Submit Chem Test- Datamaster, Refusal to Submit ChemTest- PBT, Child Abuse x2, Resisting Arrest, Transporting Child While Intoxicated, Obstruction of Peace Officer	09-08-23 0902	WCSO	07-12-71		\$25,000.00 10% \$2,500.00
32	Boschult, Jenna M. Dodge Co	Dodge Co- Theft by Receiving Stolen Property x2, 2 nd Degree Trespassing	06-27-23 1804	WCSO	01-05-91		\$12,000.00 10% \$1,200.00
33	Welsh, Rexie J. Dodge Co	Dodge Co- Attempted Burglary, Poss. of Burglary Tools, Tampering w/ Evidence, Criminal Mischief	06-23-23 0820	WCSO	11-15-03		\$10,000.00 10% \$1,000.00
34	Buck, Jillian R. Dodge Co	Dodge Co- FTA x2, Poss. Controlled Substance, Obstruction, Resisting Arrest	07-24-23 0807	WCSO	09-17-86		\$150,000.00 10% \$15,000.00 \$403.00 Cash NO BOND
35	Gutierrez, Tanya L. Dodge Co / Holt Co, MO Hold	Dodge Co- Poss. Controlled Substance, Criminal Impersonation, Obstruction, False Reporting, Warrant- Theft by Unlawful Taking, Holt Co Warrant- Poss. Controlled Substance	06-02-23 1346	WCSO	07-29-83		Dodge Co Warrant- \$12,000.00 Cash Dodge Co- \$20,000.00 10% \$2,000.00 Holt Co- NO BOND
36	Rauch, Heather S. Dodge Co / Woodbury Co Hold	Woodbury Co- Protection Order Violation	09-12-23 1618	WCSO	05-11-76		NO BOND

Signed:	cc: C	'aptain's	Secretar	y, (County	Court	, and	District	Court

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
37	Roan, Amanda L. Dodge Co	Dodge Co- DUI 3 rd , Attempt of Class 4 Felony x2	09-12-23 1639	WCSO	01-16-90		Release Date 09-27-23 @ 0800
38	Kirchman, Erich S. Dodge Co / Sentenced	Dodge Co- Shoplifting, Criminal Mischief, DUS, Leaving the Scene of an Accident, Obstructing Police, FTA x8	08-15-23 1424	WCSO	09-02-86		Release Date 61 Days
39	Mathews, Sharita J. Dodge Co / Sentenced	Dodge Co- Poss. Controlled Substance	04-28-23 2053	WCSO	10-10-84		Release Date 10-30-23 @ 0800
40	Keib, Alexis C. Lancaster Co	Lancaster Co- 1st Degree Sexual Assault of a Child	06-30-23 1800	WCSO	12-19-00		\$750,000.00 10% \$75,000.00
41	Danekas, Amanda M. Lancaster Co	Lancaster Co- Child Abuse, Obstructing Police, False Reporting	06-30-23 1800	WCSO	02-23-77		\$25,000.00 10% \$2,500.00
42	Hubbard, Mariah J. Lancaster Co	Lancaster Co Warrant- Poss. Controlled Substance	08-22-23 0955	WCSO	02-02-97		\$5,000.00 10% \$500.00
43	Robinson, Rasheda J. Lancaster Co	Lancaster Co- Attempted 2 nd Degree Assault, Child Abuse, Assault Causing Bodily Injury	07-18-23 1045	WCSO	06-19-90		\$20,000.00 10% \$2,000.00 NO BOND NO BOND
44	Williams, Vanessa N. Lancaster Co	Lancaster Co- Poss. Controlled Substance x2	08-15-23 1016	WCSO	12-21-93		NO BOND
45	Sanchez, Dakota M. Lancaster Co / Sentenced	Lancaster Co- Theft by Deception, 3 rd Degree Domestic Assault, Attempt of a Class 3 or 4 Felony	07-25-23 1042	WCSO	09-10-91		Release Date 10-01-23 @ 0800
46	Lopez, Cailey N. Lancaster Co / Sentenced	Lancaster Co- Poss. of Money While Violating	08-15-23 1016	WCSO	11-21-03		Release Date 10-13-23 @ 0800
47	Peterson, Nikki L. Lancaster Co / Sentenced	Lancaster Co - Unlawful Act by Corrections Employee	07-18-23 1218	WCSO	12-27-89		Release Date 10-15-23 @ 0800
48	Yates, Allia A. Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance	07-18-23 1045	WCSO	11-27-99		Release Date 10-19-23 @ 0800

____cc: Captain's Secretary, County Court, and District Court. Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
49	James, Anna N. Lancaster Co / Sentenced	Lancaster Co- Willful Reckless Driving, Criminal Mischief	09-05-23 1136	WCSO	01-01-87		Release Date 10-29-23 @ 0800
50	Sellers, Sarah J. Lancaster Co / Sentenced	Lancaster Co- Poss. Marijuana More Than 1lb, CCW	06-30-23 1800	WCSO	04-08-85		Release Date 11-10-23 @ 0800
51	Grant, Jennifer L. Lancaster Co / Sentenced	Lancaster Co- Violation of Home Detention	06-30-23 1800	WCSO	07-13-74		Release Date 11-18-23 @ 0800
52	Hart, Rosemary L. Lancaster Co / Sentenced	Lancaster Co Warrant - Attempt of a Class 4 Felony, False Reporting, Warrant- 2 nd Degree Forgery	06-30-23 1800	WCSO	05-15-91		Release Date 11-18-23 @ 0800
53	Jauken, April C. Lancaster Co / Sentenced / Buffalo Co Hold	Lancaster Co- Poss. Controlled Substance, 2 nd Degree Trespassing, Buffalo Co Warrant- Order to Show Cause	09-05-23 1136	WCSO	10-09-80		Release Date: 11-28-23 @ 0800 Buffalo Co- \$500.00 Cash
54	Peterson, Ashley E. Lancaster Co/Sentenced	Lancaster Co- Poss. Controlled Substance	07-13-23 1000	WCSO	09-20-89		Release Date 12-27-23 @ 0800
55	Eastman, Bridget C. Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance	07-25-23 1042	WCSO	05-03-60		Release Date 01-28-24 @ 0800
56	Brown, Sydney M. Lancaster Co / Sentenced	Lancaster Co- Probation Violation	09-12-23 0947	WCSO	03-28-96		Release Date
57	Duol, Nyadak G. Lancaster Co/Sentenced	Lancaster Co- 3 rd Degree Assault	09-12-23 0952	WCSO	09-02-04		Release Date
58	Hudson, Austin C. OPD	OPD- FFJ	11-22-22 1757	WCSO	02-04-98		\$350,000.00 10% \$35,000.00
59	Lampkin, Cecelia M. Otoe Co	Otoe Co- Receive Stolen Property, Poss. Controlled Substance, Use of Weapon to Commit Felony, Making False Report, 3 rd Degree Assault on Officer	08-25-23 1530	WCSO 10-04-23	08-26-03		\$50,000.00 10% \$5,000.00
60	Lambirth, Ashley K. Otoe Co	Otoe Co- Poss. Controlled Substance, Poss. w/ Intent to Deliver	08-25-23 1530	WCSO 09-25-23	07-08-87		\$35,000.00 10% \$3,500.00

Signed:	cc: Captain's Secretary, County Court, and District Court

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
61	Shaddy, Betsy J. Otoe Co / Sentenced	Otoe Co- DUI 2 nd , Transport Child While Intoxicated	08-25-23 1530	WCSO	04-23-94		Release Date 10-05-23 @ 0800
62	Ramirez, Itsamar S. Saunders Co	Saunders Co- DUR, Poss. Controlled Substance, Poss. of Firearm by Prohibited Person, Poss. of Stolen Firearm, Operating a Motor Vehicle to Avoid Arrest	06-15-23 1534	WCSO	04-13-95		\$250,000.00 10% \$25,000.00
63	Elznic, Jessica L. Saunders Co	Saunders Co – Poss of Controlled Substance, Making False Statement Adams Co – FTA x2 Madison Co – FTA x4	09-19-23 1230	WCSO	10-08-77		\$10,000.00 10% \$1,000.00 Adams Co - \$15,000.00 10% \$1,500.00 Madiso Co - \$150,000.00 10% \$15,000.00
64	Lazinski, Linda D. Saunders Co / Sarpy Co Hold	Saunders Co - DUI 3 rd DUR, No Interlock Permit, Open Container, Sarpy Co Warrant- Fail to Comply with Pretrial Release	08-14-23 1610	WCSO	05-10-66		\$50,000.00 10% \$5,000.00 Sarpy Co- NO BOND
65							
66							
67							
68							
69							
70							
71							
72							

Signed:	cc: Ca	aptain'	s Secretar	v,	Count	y Court	, and	District	Court

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
73							
74							
75							
76							
77							
78							
79							
80							
81							
82							
83							
84							

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	t.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
85							
86							
87							
88							
89							
90							
91							
92							
93							
94							
95							
96							

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	t.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
97							
98							
99							
100							
101							
102							
103							
104							
105							
106							
107							
108							

Signed:	cc: Captain's Secretary, County Court, and District Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
109							
110							
111							
112							
113							
114							
115							
116							
117							
118							
119							
120							

Signed:	cc: Captain's Secretary, County Court, and District Court.

Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:	cc:	Car	otain'	's Secre	etary,	Count	v Court	, and	District	Court.

_cc: Captain's Secretary, County Court, and District Court. Signed: